17.

20.

21.

-4

g 3

(a0 A2, =1) wpmd B{—4, 5) _g}t,-ﬁu_q grafimemerd  Gaidgmh Gar@ s
RUL L gheleon iﬂ_l_m orauflel  aysien’ s Sl susum em & srames, Guogad
L Feflel soumub whpes o rédlemard s,

() x*4+y*+2x—4y—-3=0 wigh 2 +y -Bx+6y+7=0 b
ful L fimst getrmmblursgy Glam (b Qeramemn o Bmags.

@ 6+ 13y + 6+ 82+ Ty +2=0 eem swsnnl B Bl
Cuidbam_ m s @iédng mars s Hs.

(2) A, B oggh C udeflsefldr SeaGob fadsr 4T + 27 + 3k, 2T +
AT +4k wheud 3T +47 + 2k symh.  @lgiflsd g suss
(pEberamseng e mamsEn aer Emd.

() 3T —4T +2k —dr By 2T -T +k Gasiflar aipmnd srens.
Gogyrn Bl Wauscrsmeda By waa Ganmrgmes Smams.

@ o6 s T+27+3k dops ST +47 +2k e sl
B Guup 4T+ 7 —3k ey eflens  Gowsuf@nCssafls  sfae
Gleniig Geusmsienid s s,

(2) 2T+ +k uwhmd T +27 +k reiTy e Gheudi s
Gleigsmres oyl QUG Gus_ars  srers.

Gl rarssE B Gu o arar s (Sing) Gaamms smams.

(@) T —27 +3k mrp yerefl eufléGauduBin 3T + 47 + 5k afmeuflr
dlmlegdEmenar 2T — 57 + Ak srerr usmafleoun) Ghemssis smems.

B T=2T+37+k, b=T-27 43k wigh T=37T—-7 +5k
aafid, (@%b )%XE -mus snies.

(o) wBasEs: (i) [T gy (i} [ sin? x dx

(20) 0BG () [ 222 (i) f =20k gy

@ whises: () [ ) f e

(o wdinSiHe: (i) [ xsinixdx (i} [xe*dx

(ma) wdSiGs: () [ x* sin 4xdx (i} [ x* cos3xdx

iz sinx
E‘ L@Lﬂﬂﬁ 'r sinx+cosx dx
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October 2017

Time — Three hours
(Maximum Marks: 5]

{M.B:- (1} Answer any FIVE guestions in sach of PART-A & PART-B ond any two
divisions of each guestion in PART-C,

{2} Ench guestion carries 2(two) marks in PART-A, 3{three] marks in PART-8 and
S{five} marks for each division in PART-CJ

PART — A

Find the equation of the circle with center (1,-2) and radius 5 units,

Show that x*+y*—4x+2y+5=0 and x*+y*—dx+2y—-8=0 are
concentric circles.

If 2 =7 + 3k and 5" + 7' — 2k are the position vectors of the points A
and B, find AB and its modulus | AB |

Define scalar product of two vectors.
If @ and b are two adjacent sides of a parallelogram, what is its area?

Evaluate: | {x‘ + %} ax

Evaluate: [ xe*dx
PART - B

Prove that the equation x* + 6xy + 99* + 4x + 12y — 5 = 0 is a parabola.

Show that the two vectors ©—37+5k and -2 +6] +4k are
mutually perpendicular.

Find the scalar triple product of the three vectors @ =27 =7 + k.

B=T-T+2k and T=3T+7 +k

Evaluate: (i) (TxT) -k M{TxTIxk

Bin® x
|-|-|:|:|s.r

Evaluate: [ sin® x cosx dx

Evaluate; | ——

Evaluate: [ xlogxdx

Evaluate: j‘:h* +x 4+ Ddx

185/5—1 [Turn aver.....
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18.

19,

20.

21.

- o
PART = C

lal If the diameter of the circle is a line joining the points A(2, =1)
and B{—4, 5}, find the equation of the circle. Also find the center
and radius of the circle,

(b} Prove that x2 +y2+2x—dy—-3=0and x> +y* - Bx + 6y + 7=0
circles touch each other.

{c) Show that equation 6x* 4 13xy + 6y° + Bx + Ty + 2 = 0 represents
a pair of straight lines,

(a) The position vector of the points A, B and C are 47T + 2] + 3k,
IT +37 +4k ond 37 +47 + 2k. Prove that these points form
an equilateral triangle.

(b] Find the projection of the vector 27" — 7'+ k on 3T —47 + 2k,
Also find the angle between these two vectors.,

(c) Find the work done by the force 47"+ 7" —3k when it displaces
a particle from T+ 27"+ 3k to the point 5T + 47 + Zk.

{a) Find the unit vector perpendicular to each of the vectors
T+ +k and T+27 +k. Also find the sine of the angle
between the vectors.

bl Find the moment of the force 37"+ 47 +5k acting through a
point T°— 27"+ 3k about the point 2T — 57 +3k.

i) f @=2T+37+k, b=1T—-27+3% and T=3T -7 +5k,
find (@xb)x¢ '

la) Evaluate: {i} [ wdx (i) [ sin® x dx

{1:-.-1] i [ 3

(b}  Evaluate: (i} [———dx (i) [ = dx

= dx

{c) Evaluate: {i} [~ wm (i J ey

{a) Evaluate: (i) [xsin2xdx (i) [ xe*dx

(b) Evaluate: (i} [ x®sindxdx (i) | x* cos 3xdx

£ imx
(e Evaluate: -ril11 Sif X+ 005X x
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- wlliGes: [
. whlliShes: [ xeTde

~3-
Sifip any anb

gy (1) uesS-a wopd ngnﬂﬂ Adhu gakang
e o o o e, e, R

qmﬂm aflern %ﬂ--ﬂmﬂﬁvﬂf@lmﬂlﬂﬂﬁm%——
{2} ﬁmﬁmﬂwwmm@ a
f{mﬁﬂ}mﬁuﬂ.ﬂ:mim

Lighf ~ o

. ommoend  (1,—2) wpmed Zymh 5 gwuE Gmmein el Gdldr  musELm e

HTETE &,

¥4y —dx+2y+5=0 waph P +y*—4x+2y—-8B=0 Gurm
Ul L MR aTaTd ML (R,

A, B witn ysreflsafldr Seme Gk fmir 20—+ 3k wdmad 5T 4] - 2k
sreoflis, AR wpguh mmdr @ [AF| -mé srems,

. @ Lommen Fa‘rmmg‘ s Beoamsrgdlsar @i obsgerer uhstmar aafll, suEsir

LRy sTetTen?
efliiGs: | (F + 3) dx

1+.'rI

L= o5y

4 x4+ 9y  +4x + 12y —-5=0 sy SueTUrE  GE  UTEMNETLE e
Bl

=37 + 5k  whmih -20 + 67 + 4k o G GusLised s bardm
Clatugda mand s,

T=2T =T +k, b=T-7"+2k wigh T=3T+7 +k s g
e fsafler Hensuilell WGLBESGMEE STES.

wEdGs: ) (TxT)1-k i (T xT)xk
: sin? x
e SR Imﬁfﬁ
wECiiEe: [ sin® x cos x dx
wEdiGe: | xlog x dx
e Sl jf[xz +x+ 1)dx
[Bmiys.....
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